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Β1. 

 

 

Β2. 
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Β3. 

 

 

 

Γ1. 

K =
U1
U2

=
300

600
=
3

6
=
1

3
= 0,33 
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Γ2. 

PS2 = U2I2 ⇒ I2 =
PS2
U2

=
12000

600
=
120

6
= 20A 

 

 

Γ3. 

𝑢𝑘(%) =
𝑈1𝑘
𝑈1𝑁

100 ⇔ 5 =
𝑈1𝑘
300

100 ⇔ 5 =
𝑈1𝑘
3

⇒ 𝑈1𝑘 = 15𝑉 

 

 

Γ4. 

𝐼2𝑘 =
𝐼2𝑁

𝑢𝑘(%)
100 ⇔ 𝐼2𝑘 =

20

5
100 = 400𝐴 
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Δ1. 

𝑓 =
𝑛𝑠𝑝

60
⇒ 𝑝 =

𝑓

𝑛𝑠
60 =

50

1000
60 =

3000

1000
= 3𝜋ό𝜆𝜊𝜄 

 

 

Δ2. 

s(%) =
ns − n

ns
100 ⇔ 4,5 =

1000 − n

1000
100 ⇔ 0,045 =

1000 − n

1000
⇔ 0,045 = 1 −

𝑛

1000
⇒ 

𝑛

1000
= 1 − 0,045 ⇒ 𝑛 = 1000(1 − 0,045) = 955𝜎𝜏𝜌./𝑚𝑖𝑛 

 

 

 

Δ3. 

P1 = UπIσυνφ = 230√3 ∗ 60 ∗ 0,8 = 19200𝑊 

 

 

 

 

Δ4. 

Pμηχ =
Tn

9,55
⇒ T = 9,55

Pμηχ

n
= 9,55

19200

955
=

1

100
19200 = 192Nm 


